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QUESTION 1

A company requests increased bandwidth during two specific periods each year. Which solution will accomplish the
desired result? 

A. NorthStar planner 

B. NorthStar bandwidth calendaring 

C. NorthStar maintenance Mode 

D. Centralized Path computation 

Correct Answer: A 

 

QUESTION 2

You are required to set up zero-day malware dedication for your private cloud without sending files off site 

for analysis. 

What will accomplish this task? 

A. JATP 

B. IDP 

C. UTM 

D. Sky ATP 

Correct Answer: D 

 

QUESTION 3

What are three orchestrators that integrate with Contrail? (Choose three) 

A. VirtualBox 

B. Kubernetes 

C. Ubuntu 

D. OpenStack 

E. vSphere 

Correct Answer: BDE 
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QUESTION 4

Which two data models are supported for the Junos Telemetry Interface (JTI)? (Choose two.) 

A. Azure Application Insights 

B. Native Sensors 

C. Amazon Kinesis 

D. OpenConfig 

Correct Answer: BD 

 

QUESTION 5

According to the juniper network, what is the recommended external routing protocol for the underlay network? 

A. IS-IS 

B. EGP 

C. OSPF 

D. BGP 

Correct Answer: D 

 

QUESTION 6

Which cloud architecture provides developers a framework on which to develop and customize applications? 

A. DBaaS 

B. PaaS 

C. IaaS 

D. FWaaS 

Correct Answer: B 

 

QUESTION 7

Which two statements are true about an SDN controller? (Choose two.) 

A. An SDN controller automates repetitive tasks in a network 

B. An SDN controller regulates traffic transmission rates in a network 

C. An SDN controller centralizes control and configuration of a network 
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D. An SDN controller stores and manages software mages 

Correct Answer: AC 

 

QUESTION 8

Which CSO component enables the monitoring of the CSO system to provide real-time data about the Cloud CPE
solution? 

A. Administration Portal 

B. AppFormix 

C. Designer Tools 

D. Customer Portal 

E. Service and Infrastructure Monitor 

Correct Answer: E 

 

QUESTION 9

You must set up multiple collection points across your network to look for malware and rogue SSH 

attempts. 

What will allow you to accomplish this task? 

A. AppFormix 

B. NorthStar 

C. networking 

D. JATP 

Correct Answer: D 

 

QUESTION 10

Which two statements describe cloud CPE? (Choose two.) 

A. Cloud CPE require heavy investment in vendor-specific hardware 

B. Cloud CPE encourages administrators to use all-in-one appliances 

C. Cloud CPE allows multivendor, open support of software-based functions 

D. Cloud CPE eliminates the need for investing in expensive hardware 
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Correct Answer: BD 

 

QUESTION 11

Which two benefits does the Junos Telemetry Interface(JTI) provide in an AppFormix architecture? (Choose two.) 

A. JTI enables you to deploy security policies to vSRX devices 

B. JTI uses a push model to deliver data asynchronously 

C. JTI enables you to collect and export data from resources such as firewall filters 

D. JTI uses an SNMP pull model to eliminate additional processing 

Correct Answer: BC 

 

QUESTION 12

Which statement is true regarding an OpenFlow controller-based software defined network? 

A. The forwarding plane of each device in the network is programmed by the controller 

B. The control plane of each device in the network is instantiated by the controller 

C. The SDN controller pushes configuration files to each device in the network using RESTful APIs 

D. The forwarding plane of each device in the network is managed by the device 

Correct Answer: A 

 

QUESTION 13

You are using the Juniper connected security solution to protect your network from malware. 

However, you noticed that malware files over 10 MB are not being analyzed. You need the capability of 

analyzing files greater than 10MB. 

Which two components would allow you to accomplish this task ? (Choose two) 

A. REST API server 

B. Fabric Manager 

C. VIM director 

D. Security director 

Correct Answer: BD 
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QUESTION 14

Which two statement describe virtual network functions (VNFs)? (Choose two) 

A. VNFs are provided at a customer\\'s site or telco cloud 

B. VNFs represent the service that monitors and tracks whether the services are performing according to design 

C. VNFs represent the infrastructure the comprises the telco underlay network 

D. VNFs can be deployed as a software function within a single x86 platform 

Correct Answer: AC 

 

QUESTION 15

Which statement is true about NFV containers? 

A. NFV containers usually provide fewer functions than VM-based NFs 

B. NFV containers require an underlying hypervisor for deployment 

C. NFV containers take longer to instantiate than virtual machines 

D. NFV containers require more memory and storage resources to deploy 

Correct Answer: A 
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